Opérations avec deux fractions mixtes (I)

Nom:

W

E

w

o

10.

Date:

Calculez chaque résultat.

5-+5- =
55413 =
53 +25 =
11—56><5%=
5%+5%=
shxal =
5——5% =
5-—1= =
5%—5% =
sgx% =

Note:
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Opérations avec deux fractions mixtes (I) Réponses

Nom: Date: Note:

Calculez chaque résultat.

sl 5 _ 41,35 41 6 246 123
' 8 "6 8 735 280 140
1 3 11 8 11 5 55 7
20571 = 575 T X8 T 16 T 16
8 2 53 20 73 1
P gti; =gty = 9 =8
5 1 21 11 231 7
162562 T m T 3;
13 °7°8 137 8 13747 611 611
1 1 11 5 55 7
o Xl =Xy = % T %
4 1 29 26 3
5T TS5 75 T 5
1 11 7 15 3
sl = 5T 7 T
5 17 50 1
% °37%5 T3 79 % 3§
2 2 17 7 119 14
] — 1- = — - = —_— = 77—
10 53 %13 3 %5 15 15
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